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Author: VCLH
Setter: VCLH, yaufung
Simulator: nhho (Did you enjoy?)
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Given R x C marbles on (R + 2) x (C + 2) checkerboard
Remove all marbles except 1

E.g. R = 2, C = 3:
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Peg Solitaire
● Only orthogonal jumps
● Only one empty hole
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What Cherry “created” is actually an easier version of peg solitaire
● Allow diagonal jumps: 8-move peg solitaire
● Many more empty holes: entire rows and columns
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Output N moves → M = (R x C - N) marbles remain

Score =

Goal: M = 1 ← N = R x C - 1
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Input
2 2

Observation: Marble goes back to original position
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First solved by dbsgame at 1:39:09
Last solved by dbstoshinari123 at 2:22:12
Total solves: 2
Attempted by: 48 / 69 contestants
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To solve this kind of ad-hoc and/or constructive problems:
● Usually more interesting (?) and less “standard”
● Usually requires a lot of rough work and/or insight and/or intuition

https://assets.hkoi.org/training2019/cast.pdf

https://assets.hkoi.org/training2019/cast.pdf
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R = 2, C = 2
→ Sanity Check
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R = 3, C = 3
Another way:

Observation: Marble goes back to original position
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2 <= R, C <= 5
Method 1: Brute Force DFS
Method 2: Hardcode
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R = 3
Reduce 2 columns: (by dbsgame)
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R = 2
Reduce 3 columns:
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R = 2
Reduce 2 columns: (by dbsgame)
Initialization:

Glider (Conway’s 
Game of Life)



S213 - Chinese Checkers

R = 2
Reduce 2 columns: (by dbsgame)



S213 - Chinese Checkers

R = 2
Reduce 2 columns: (by dbsgame)



S213 - Chinese Checkers

R = 2
Reduce 2 columns: (by dbsgame)



S213 - Chinese Checkers

R = 2
Reduce 2 columns: (by dbsgame)



S213 - Chinese Checkers

R = 2
Reduce 2 columns: (by dbsgame)



S213 - Chinese Checkers

R = 2
Reduce 2 columns: (by dbsgame)



S213 - Chinese Checkers

R = 2
Reduce 1 column: (by dbstoshinari123)
Initialization:
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Another strategy:
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To solve this kind of ad-hoc and/or constructive problems:
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● Usually requires a lot of rough work and/or insight and/or intuition
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● Reduce the problem into smaller cases / lower dimensions
○ Solve recursively

● Divide your code into sections
○ Clear comments stating which section does what
○ Wrap them into functions with meaningful names

● A lot of repetitive set of moves
○ e.g. 2x2, T-moves
○ Wrap them into helper functions

● Row and column operations are symmetric
○ Store outputs with array/vector and print at once
○ Use bool to indicate if you have to swap coordinates (r,c) / (c,r)
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Have fun with the simulator :)


